Name all segments paratlel to EF. Héa ;:TK

Name all segments paraliel to FG. EH
Name three pairs of skew lines. N\‘SLUME) wHt
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Name EF in another Way. E@?

How many different segments can be named? ~ |

1

Name a. pair of opposite rays with £ as an endpoin AR

Name in two different ways the ray opp_Qsi.Eg 1:'?5:_;7
‘ )

s
Name GFE in two other ways. é]? | Gl%

Are EG and GE the same segment? \] ¢S

G
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If GF = 32, find the value of each of the following.

If AX = 45, find the value of each of the following,
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) Ix A =5 x M
it =3x-4
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= L* 2y +1 -1
GH = 1. : = o LA y AQ =3I b d Sy *
=10 Lyt o =32 ox=14 2y+1 +y-1 =45
Yx +1 =32 By =4S
Yy = e Ve
. *=Y
LD nng X Construct the perpendicular bisector of XV,

LAOB =x+3LA0C=2x+ 11, LBOC=4dx ~ 7

£COD =9x + 4, LBOC = 4y — 1, LBOD = 14x —§
’ , _ :QX"?L{*L&
() 2xtil = x+3+4x~7@j?435'@:,5“5
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Construct the angle bisector of £ Z.
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1= (-3 05(T-1)”
- (TFIT 1

NP =[B-D(8-0)*
=21 +87

and m/ZBWR = 4x — 48. Find m2£ AWB.

Finding Angle Measures WE bisects LAWB so that mZAWR = x

Find the distance between the
points to the nearest tenth.

L(—4,11), M(=3,4)

LM =]

N(1,0), P(3.8)
NP=8, 2

Show that each conditional is false by
finding a counterexample:

If it is 12:00 noon, then the sun is shining.
I Jan 3, 2007, &F N, e sun
Was Nt Shining

If a number is divisible by 3, then it is odd
I 1o divisibie by 3 bt
i S oen.

Write the converse of each statement. If the converse
is true, write true; if it is not true, provide a
counterexample.

Ifx-4=22 thenx=26

(N TF x=2l, Hun x-4<27

If m?is positive, then m1 is positive.
(py: IF M i5 posinve, Wien
True
If point A is in the first quadrant of a coordinate plane, then
>0 .
C)E)n\/?ﬂ % >0, then pomt A IS inthe
(St Quad.

x

e (1, '“2)

m%is pos.

Each condition statement is true. Consider
each converse. If the converse is true, write
a biconditional.

If two angles have the same measure, then
they are congruent.

Two angles have Hie same
MeaAre 1F Fonly ity o
Congreent

Ifn = 17, then }ni = 17. |
Cnverse 15 fudse, n=-11

Write the two conditional statements that make up
each biconditional.

A whole number is a multiple of 5 if and only if its last digit

e,lisf ‘ﬂebano?éai is a mulhpic of 5, Hen s

st Db 1s ety o= 0 or a5 ‘
5\;?:\1?, lv“%ﬂ' digit of & whek i 45 b 0 S, Hheh
5 & MALAPIe of ©

Two lines are perpendicular if and only if they intersect to
form four right angles.ﬁp hn ey infersect o

JIF2lnes ard p
form 4 g ht AR |
T 2 S jresect mwformd ”ﬂ}?‘* L), Hhun

ey mpgr/agmﬂluﬂw’




Use the Law of Detachment to draw a
conclusion.

If the measures of two angles have a sum of 90
degrees, then the angles are complementary.
m<A + m<B = 90

Ao LB are Bmplementasy

If the football team wins on Friday night, then
practice is cancelled for Monday.

The football tearn won by 7 points on Friday
hight.

prachi< 15 (srveded for
il

Use the Law of Detachment and the Law of Syllogism
to draw a conclusion from the following statement.

1) If it is raining, the temperature is greater than 32
degrees

2) If the temperature is greater than 32 degrees, then it is
hot freezing outside.

3) It is raining

s ot fyzzz;nﬂ Juiside.

1) if you live in Providence, then you live in Rhode Island
2} If you live in Rhode Island, then you live in the smallest
state in the United States.

3) Shannon lives in Providence

Shﬂ,nﬂa{{) wes in Hue SmalleSt stite m
e il

[

Give a reason for each step
0.25x + 2x + 12 = 39 GivN
225x + 12 = 30 OMpPIiTy
2.25x = 27 SUlpfrach on mn
25¢ = 200 ifrplcaD
¥ =12 HSusn

Name the property that justifies each statement

If 10x + 6y = 14 and x = 2y, then 10(2y) + 6y = 14.
MWoShfuh o

TR = MNand MN = VW, then TR = VW
TransSihve

IfJK = LM, then LM = TK,
Symmetn C

Find the values of the variables

{3x — 40y

3x-HYo = 2x -10
X -40 =10
X=30

{4x + 1Y

dx +1=b5
Yx=loH




Which lines or segments are parallel?
Justify your answer with a theorem or postuiate

A€ m
‘ y gt 30
65°
A 1115°
W q100l7g
70°
Ay $

tlim by 95T 2'S m IIAG by

(oyres ponding 'S

Classify each triangle by its
sides and angles

thﬂ Aakene

Ihhse , iSueleS

Find the measure of each numbered angle

65° 1
—% 60" 140°
B , >~

?2: ?\0"
{86 3 7 \?
i3 =22
m(_‘-—} —~22.
5 =88

Tell whether the ASA, AAS,
S$8S, SAS postulate can be
applied to determine if the
triangles are congruent.

L R .
M ‘ N
Cunnot be
Determifed
w




Write a two-column proof

J H

of Oements | Reashis
Given: LK = /MKIL =ML @LK ’;’Lm, E—-}:g{ﬁ_& @@,f\f@;/)
Prove: AJKL = APML @MQLP v LT @VU‘I‘)IC&‘J L[f)
J K .
% BATKLEAPML (D ASA
A
M P
Write a two-column proof ﬁlﬂ' ﬁWJ’IfS I@éIIDﬂS
Given: BD L AB, BD L DE, BC =¢CD Ogbl% E?D_LBE ) @@JVM
Prove: /A = £ E E)(/ NCD - . le
" (Drupxcecd  @Verhal L5
\ i B5 42D e nght \Apef. of pace.
C A
: e BYLD (DAl right £ dre=
b . ML ENEDC (a ASA
OPxtas Exrere
Write a two-column proof 2 —%%
Given:FJ = GH, £JFH = +GHF (DET ”(EIT LIFH=LAAT (DA ven
Prove: FG = TH OFH /'\:JHF’ @Kg]ﬁwx\\,f@
; ? HNFHTZ ARG (D) 5AS




Find the values of the variables: x - 56
O ©
\):010 y =770
0 o
= h = 25
10° X %0 y z

125°%/ x° zr

X ;’j? Perimeter of %ABC = 32 cm
- A LB N
i %n N 8
N
34 In n
c , 2 “
Ntn+lgn =32_
YiEn =32
n=b%

Use the figure to answer the following questions:
How is WY related to XZ27 Perp. bise ctor

Find XV. 4
Find WZ 1.5
Find XY, {

What kind of triangle is AWXV? 1 lgh’r

Use the figure to answer the following questions:
Find the vaiue of x. X T

Find HL 17]
Find JL |7}

If Llieson K/, then Lis _?_from H and J. C)C’ wd iSHan +

What kind of triangle is AHII? TDSCL1€5




Identify the two statements that contradict each other:

AB = BC
miA + miB =80

IIl. AABC is isosceles.

A

C

Write the negation of each statement:
e The angie measure is 65

e 2 Messure is oF b5

e The restaurant is not open on Sunday
e Stasrant (S open

oY) Swnday

Write the Inverse and Contrapositive of each
statement. Give the truth value of each:
e If two triangles are congruent, then their
corresponding angles afe congruent ,
T TF 2 A's are noF =, Hun Heir
bre. £'s e not gongneent Flse

i s TE 2 AS Gore. 5 G ot trgnant,
un fuy are it ¥ T

e If you live in Toronto, then you live in Canada

T TF you o mod hve m Torond, fran

yokdo not Ive in (anade- False

inva . IF you do not Jive m lanada,
dun o oo not hve in Tarentd
False

List the angles of each triangle in order
from largest to smallest:

s—=l p LD}LS;AA

3.4 2.6
A
A UN, S5, LT
13
25
N

List the sides of each triangle in order from Iargest to
smallest: _

BQ‘L a7 ¢ %,%,55

41}

o
=
3|

56°.~0

=




Find the value of each variable, Leave your answers in

Find the value of each variable. Leave your

simple radical form

X2

answer in simple radical form
2 v
X475 =10 60°
’ L =5 ; NI
= / )(::451 ? 30°
y
60° \ =45
16 y ) p=H 5z
30°

12
y?’ﬂ‘lzi sz

yo= 12
\,: m

Find the value of x. Round your answer to Write the ratios for sin P and cos P
the nearest degree Q ‘ L m _ m
= 2, i ONE= 29 7
P20 R (s P = 20 _5
‘ 24
" a\/10 0 o 2410
oI P:: 7
GV 4
14 . o 3
P ) IQ e [




Find the value of x. Round the Iengths to the

nearest tenth. 5 e
Tan 25 = 2"‘5‘5)
A= 2907aN 25

250 ft

meteorology
station

A person is standing 30 ft from a flagpole can
see the top of the pole at a 35 degree angle of
elevation. The person’s eye level is 5 ft from
the ground. Find the height of the flagpole to
the nearest foot.

%
6” . B+
T 35= 20
X = A TN 32

Find the indicated side/angle:

FindA;: on 28 _ omaz
A * 'S :
e, AOINAZEIGHNE

Find angle A a)ﬂ_x_ - S{_\Qj_é
C ] ﬁ

2B yd .
?Yd/}ﬁ'\\x\\ 4 295“4 5(’:75“1 75

B
N = HIHE

Find AB
A

«* = o900 - 11813

E(:: 30,2 m)
B

27 ml

¢ 19m

Find angfe A

(=277 41072 (21 (5!

7

N




